












































































































af330 Area area of two sectors

I ITrix t Trix 330
30 3cmµ 360 360

IT x42 31 tix 12 330
360 360

7.07cm

Perimeter small are big arc 2 straightedges

2Tr x 30 t 2 Ex 330
360 TE

t 3 3

217 4 31 t 2x x 1 331 6
360 360

i3.9

Q5 Find shaded area

112cm seafter triangle
n area
i 12cm r 90

Io E base x height
r

iTxl2x90
Io 4 12 12

41.1cm

Sectors and Arcs
















































































































6 Find Shaded Area

Half shaded are
a

sea.IE triangle
8cm Tx 82

3 0 2 8 8

18,265 c

All shaded area 36.5cm

Ext Perimeter 36cm

Find length and width
2 3

2 3 2 3 2 36

6 6 36

Length 2157 3
Gx 36 6

I 13cm 64 30
x 31

width 5cm 6
2 5

x2 3cm T

3 4 M 12 ly

Rectangles


































































The rectangle and the square have the

same perimeter Find y the length of the square

7 12 3 4 3 4

x 3 54 12 314 4 16

4K 16 Tx 12
x I a 12 16

4
x Perimeter of Rectangle

16 31 161 3
38 cm

Length of Square
78
I 9 5cm

y 9.5cm

Ex 2g I Find the perimeter
and area of rectangle

8 3 15 6
8 3 5 6

8x 5x 6 3
5 4 3x 9

K I
3

2g I y 14 x 3

2g y 1 41 1

Length 5 3 6

y 5 75 6
21 cm

width 5 4 perimeter 21 9 21 9 60cm
9cm Area 21 9 189cm


